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2. FIAERGEE (Sf545H 3 1 HEIE) (B 0 A)
AINEER ST 7 5L Lo
6 5Ll EoJs
FIRZERGE | B | &fE | FIHEREE | bR

1H 73 25 48 44 31 54
2 A 92 25 6 7 71 40 82
3 A 107 37 70 71 38 92
4 A 96 24 72 6 4 42 76
5H 35 11 24 25 12 34
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(1) FIAHHER (F544 1) (BAL : A)
T U7Xy FIRHE FIAH B F-H
JEE= Y 7 75 2 4 3. 13
=Y 7 50 24 2. 08
EEXIN 125 2 4 5. 21
(2) FIAHE (Ff545 M) (BAL : A)
=V 7 X5y EAIDERE S FIH R -t
EE= Y 7 88 2 4 3. 67
=Y 7 74 24 3. 08
EEXIN 162 2 4 6. 75




(3) FIAHE (55 (BAfZ 0 A)
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E=U 7 163 48 3. 40 39
R U 7 124 48 2. 58 37
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(4) #HERBIFIHEE (Sf54F4H) (BAfZ : AL %)
M| Aok | BB | ZEAE | WEE | B R0 | H W | AE | SR SERn | e | BPE | k| ARt
¥ 11 14 13 4 20 10 5 5 10 11 15 71 125
A | 8.8 11.2110.4] 3.2|16.0| 80| 4.0| 4.0| 80| 88[12.0| 5.6| 100
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HX | Ao | B | ZEA | WEE | B | E W | AlE | SREL | SR | e | BRE | Sk | A
Vass 15 14 16 0 15 17 9 16 13 18 23 6| 162
A | 9.3 8.6] 9.9 0| 9.3110.5| 55| 9.9| 80| 11.1]14.2| 3.7| 100
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M | rpo | B | ZEAE | WEE | B | E W | AdE | SREL | SR | e | BRI | Sk | B
%k 26 28 29 4 35 27 14 21 23 29 38 13| 287
A 9.1 9.8 10.1] 1.4]12.2| 9.4| 49| 7.3| 80| 10.1] 13.2| 4.5| 100
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X5 SRl A (%) 1% #a (%) G A (%)
Bl 40 32.0 35 28. 0 75 60. 0
A 41 34 27. 2 16 12.8 50 40.0

at 74 59. 2 51 40. 8 125 100. 0
(8) EFRBIFIARE (HF545 1) (BT : A)
X5 SRl A (%) 1% #a (%) G A (%)
LB 39 24. 1 49 30. 2 88 54.3
A 5 47 29.0 27 16. 7 74 45.7

at 86 53.1 76 46.9 162 100. 0
(9) ERBIFIARE (55 (BAL - A)
X5 SRl #E (%) 1% #E (%) 7 #E (%)
Bl 79 27.5 84 29. 3 163 56. 8
R 81 28. 2 43 15.0 124 43.2

at 160 55. 7 127 44.3 287 100. 0
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6 45 14 5 2 79
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7 17 14 2 0 45
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11 7 52 16 8 1 95
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PREBR | NSLiER | EREMEER | PR | SRR | S RE 7l

8 6 29 18 2 0 63
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